SCH 3U
USING UNIT RATIOS TO SOLVE PROBLEMS
Ratios can be expressed in several ways:
1. As written words

12 roses per dozen


2.2 pounds per kilogram

2. As fractions
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3. With a colon
12 roses : 1 dozen


2.2 pounds : 1 kilogram

In all cases, the ratio may be reversed:


1 dozen per 12 roses

1 kilogram : 2.2 pounds

This is also true of any units used in measurement that are a combination of more than one unit, such as density units which are grams per cubic centimetre or g/cm3.  Lead has a density of 11.3 g/cm3, which means that for lead, every cm3 has a mass of 11.3 g, which we can write as 1 cm3/11.3 g.

Just as in algebra, where a variable in the numerator cancels the same variable in the denominator, it is also true in science that a unit in the numerator cancels the same unit in the denominator.
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Use this unit analysis to help you solve the following:

The Brombabbo Candy Company supplies jars of jellybeans to candy stores.  Each jar has 986 jellybeans in it.  How many dozen jellybeans are there in a box of 24 jars?
